Rust Memory usage

struct Employee<'a> {

}

name: &'a str,
salary: i32,
sales: i32,
bonus: i32,

const BONUS_PERCENTAGE: i32 = 10;

fn ge

et_bonus_percentage(salary: §i32) — i32 {
let percentage = (salary * BONUS_PERCENTAGE) / 100;
return percentage;

find_employee bonus(salary: &i32, no_of_sales: i32) — i32 {

}

fn o

let bonus_percentage = get bonus_percentage(salary);
let bonus = bonus_percentage * no_of_sales;
return bonus;

ain() {

let mut john = Employee {
name: &format!("{}", "John"),
salary: 5000,

sales: 5,
bonus: 0, BONUS_PERCENTAGE| 10|

main frame

i

john.bonus = find employee bonus(&john.salary, john.sales);
println!("Bonus for {} is {}", john.name, john.bonus);
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let percentage = (salary * BONUS_PERCENTAGE) / 100;
return percentage;

fn find_employee bonus(salary: &i32, no_of_sales: i32) — i32 {
let bonus_percentage = get_bonus_percentage(salary);
let bonus = bonus_percentage * no_of_sales;
return bonus;

}
fn main() {

let mut john = Employee {
name: &format!("{}", "John"),
salary: 5000,
sales: 5,
bonus: 0,

i

john.bonus = find employee bonus(&john.salary, john.sales);
println!("Bonus for {} is {}", john.name, john.bonus);




